( M6M

. . . . ® PIASTRA MONOLOCK PER MONORACK FZ
MONOLOCK PLATE FOR MONORACK FZ
PLATINE MONOLOCK POUR MONORACK FZ
v MONOLOCK PLATTE FUR MONORACK FZ
PARRILLA MONOLOCK PARA MONORACK FZ
ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS

INSTRUCTIONS DE MONTAGE
BAUENLEITUNG - INSTRUCCIONES DE MONTAJE

( @ )

\ay

( @ )

( @ )

S S =
PIASTRA MONOLOCK COPRIFORO
M6M VITE TCEl M6x25mm RONDELLA @6mm RONDELLA @6x18mm| |DADO A.B. M6 BOLT CAP
PLATE SCREW WASHER WASHER BOLT M6
PLATINE VIS RONDELLE RONDELLE ECROU M6 CACHE TROU
PLATTE SCHRAUBE SCHEIBE SCHEIBE MUTTER M6 STOPSLOCK
PARRILLA TORNILLO ARANDELA ARANDELA TUERCA M6 TAPA AGUJERO
( QTYndl ) QTYn4 ) QTYnd4 )\ QTYnd4 ){ QTYnd ) QIYn.6

© Copyright 270910ARRev00, A1

/
| S

»




